14. EEEANTEREERO R ARKR

(BEGI: A, %)

X 5 SHTEE SH2EE SHSEE

E 8 30 30 30

EAFTEH 9,777 10,125 10,215

5 5 BT A 30 30 30

= M7 VAN 0 0 0

ﬁﬂ“%ff&g" 4 1B ¥ 8 26.8 27.7 28.0

M R =E 89.3 92.5 93.3

AFr & 8 6 10 8

B & B 6 10 9

FHFEBR S 325.9 337.5 340.5

T =] 18 18 18

EAFEHR 6,155 6,264 6,487

5 5 BT A 18 18 18

M7 VAN 0 0 0

7";’)53&5\1* 1 H ¥ 59 16.9 17.2 178

I A =E 93.7 95.3 98.7

AFr & # 7 5 4

B & B 7 5 44

E¥FREB R 341.9 348.0 360.4

E =] 4 4 4

@55“5\ ) : '

F A =E 33.3 38.5 40.2

EHFREBR 121.5 140.5 146.8

_ o o 8 35(A~x) 35(A~L) 3B(A~L)
TAH—ERX AR ) 10(8) 10(8) 10(H)

BI5WNASTAY-EABERR | EEFREHR 8,088 8,686 8,036

1 H T B 22.2 23.8 22.0

FAH—E R (BHERSREFR | T =] 12 12 12

i) EERFEH 1,528 1,655 2,430

WI5LST AL AB REERT | 1 B £ B 4.9 5.3 7.8

(IS T=IREN AR & B 8,136 8,544 8,036

IR—LALTH—EREBE/R |1 B £ 8§ 22.3 23.4 22.0

(OISTEIREN EABEH 1,092 1,083 1,092

FREARBRY—EREEM 1 H F B 4.2 4.1 42

E =] 15 15 15

EAFEH 5,322 5,268 5,327

. s 1 B £ 8 145 14.4 14.6

TN—Th—L BRRE I B =E 96.9 96.2 97.3

A BT # 2 3 2

B # 2 3 2

FAH—ER+EVE—0VEDY | E 8 12 12 12

(FBENSE X i BY) EBEFEH 1,320 808 585

H21~H23A XK€= (£ # B % 207 206 207

H24~ 7 ) K- 1B FE B 6.4 3.9 2.8

FAH—EREVE4—0VEDY | E B 10 10 10

(— A3 EBEFEH 624 544 487

H21~H23KEEBHD#H £ fE B ¥ 103 104 103

H24~K-1 &% 1 B E B 6.1 5.2 4.7

BEH #EEiinEE. SR Eant
FE S50 AEESI=YF(1aAZYrERSAN) . T IL—THR—L22 =y, (12=YFEROAN)
LEREOERIE, TRNDELBRTHS.

86



